Project Name: Pavement Resurfacing-Box Canyon Road

Spec. No. RD19-05

Abstract of Bids opened on: January 31, 2019

ENGINEER'S ESTIMATE: 1,487,381.00

LOW BIDDER - All American Asphalt Corona, CA 92879	1,377,000.00
2nd Bidder - Sully-Miller Contracting Company Brea, CA 92821	1,496,000.00
3rd Bidder - Granite Construction Company Oxnard, CA 93036	1,537,680.00

The undersigned certifies that the bids abstracted above were received on beha of the Board of Supervisors, 'County of Ventura at the time and place designated in the Notice Inviting Bids; were publicly opened and read; and were checked.

Director, Engineering Services Department

Copies: Director PWA, PM: Matt Maechler; Yvette Perez; File

Bids o	pened on: January 31, 2019			ENGINEER'S	ESTIMATE	LOW BIDDER		2nd Bidder	
Projec	t Name: Pavement Resurfacing-Box Canyon Road					All American Asp	halt	Sully-Miller Contra	acting Company
			1			400 East Sixth S	treet	135 S. State Colle	ge Blvd., Suite 400
			Ÿ			Corona, CA 9287	' 9	Brea, CA 92821	
	Spec. No. RD19-05								
ITEM			allanter (LINIT DDIOE	TOTAL	LINUT DDIOE	TOTAL	LINIT DDIOE	TOTAL
NO.	ITEM	UNIT	QUANTITY	UNIT PRICE	TOTAL	UNIT PRICE	TOTAL	UNIT PRICE	TOTAL
1	Mobilization	LS	1	101,272.00	101,272.00	150,251.00	150,251.00	78,000.00	78,000.00
2	Traffic Control & Construction Signing	LS	1	102,160.00	102,160.00	150,000.00	150,000.00	139,784.40	139,784.40
3	Temporary Traffic Signalization	LS	1	200,000.00	200,000.00	7,500.00	7,500.00	19,000.00	19,000.00
4	Senate Bill 1 (SB1) Sign	EA	2	2,000.00	4,000.00	3,500.00	7,000.00	1,500.00	3,000.00
5	Water Pollution Control	LS	1	10,000.00	10,000.00	8,000.00	8,000.00	4,500.00	4,500.00
6	8' Wide Cold Milling	LF	383	6.00	2,298.00	10.00	3,830.00	32.50	12,447.50
7	2" Grinding	SF	15566	1.00	15,566.00	1.00	15,566.00	2.50	38,915.00
8	AC Taper with Key	SF	2820	1.00	2,820.00	1.00	2,820.00	4.50	12,690.00
9	AC Base Repair	TN	70	300.00	21,000.00	350.00	24,500.00	500.00	35,000.00
10	Asphalt Rubber Aggregate Membrane (ARAM)	SY	27662	5.50	152,141.00	6.00	165,972.00	8.30	229,594.60
11	Asphalt Rubber Hot Mix (ARHM)	TN	3270	120.00	392,400.00	110.00	359,700.00	130.00	425,100.00
12	Pavement Widening (6" thick)	TN	65	210.00	13,650.00	260.00	16,900.00	350.00	22,750.00
13	Miscellaneous Paving	TN	663	300.00	198,900.00	260.00	172,380.00	175.00	116,025.00
14	Rock Splash Pad	EΑ	5	1,200.00	6,000.00	3,400.00	17,000.00	2,600.00	13,000.00
15	AC Berm, Type A	LF	366	12.00	4,392.00	15.00	5,490.00	18.50	6,771.00
16	AC Berm Rehabilitation	LF	1223	12.00	14,676.00	15.00	18,345.00	15.50	18,956.50
17	AC Berm Seal	LF	190	2.00	380.00	15.00	2,850.00	21.50	4,085.00
18	PMB Shoulder Backing	MI	4	9,000.00	36,000.00	18,000.00	72,000.00	26,600.00	106,400.00
19	Cast-in-place Curbside Grated Catch Basin	EA	5	8,500.00	42,500.00	11,000.00	55,000.00	6,100.00	30,500.00
20	"L" Shaped Headwali	EA	1	10,000.00	10,000.00	17,000.00	17,000.00	19,000.00	19,000.00
21	Concrete V-Ditch	SF	345	25.00	8,625.00	37.00	12,765.00	54.00	18,630.00
22	16" Retaining Curb, Type A1-8	LF	40	80.00	3,200.00	70.00	2,800.00	207.00	8,280.00
23	CMP Extension	LF	38	300.00	11,400.00	235.00	8,930.00	490.00	18,620.00
24	Inlet and Down Drain	EA	3	10,000.00	30,000.00	4,200.00	12,600.00	2,550.00	7,650.00
	Survey Monument Replacement	LS	16	1,500.00	24,000.00	800.00	12,800.00	925.00	14,800.00
26	Pavement Delineation Signing & Striping	LS	1	80,000.00	80,000.00	55,000.00	55,000.00	92,500.00	92,500.00
27	Release on Contract	LS	1	1.00	1.00	1.00	1.00	1.00	1.00
	TOTAL				1,487,381.00		1,377,000.00		1,496,000.00
	•	500							

Corrections: A=Addition corrected C=Computed from total E=Extended from unit price M=Modified b bidder

Copies: Director PWA, PM: Matt Maechler; Yvette Perez; File

COUNTY OF VENTURA - PUBLIC WORKS AGENCY

Bids o	pened on: January 31, 2019	3rd Bidder			
Project Name: Pavement Resurfacing-Box Canyon Road		Granite Construction Company			
	-	1000 Town Center			
		Oxnard, CA 93036			
	Spec. No. RD19-05				
ITEM					
NO.	ITEM	UNIT PRICE	TOTAL		
1	Mobilization	85,902.00	85,902.00		
2	Traffic Control & Construction Signing	149,311.00	149,311.00		
3	Temporary Traffic Signalization	18,200.00	18,200.00		
4	Senate Bill 1 (SB1) Sign	1,720.00	3,440.00		
5	Water Pollution Control	15,410.00	15,410.00		
6	8' Wide Cold Milling	7.40	2,834.20		
7	2" Grinding	1.10	17,122.60		
8	AC Taper with Key	1.00	2,820.00		
9	AC Base Repair	356.00	24,920.00		
10	Asphalt Rubber Aggregate Membrane (ARAM)	6.60	182,569.20		
11	Asphalt Rubber Hot Mix (ARHM)	162.00	529,740.00		
12	Pavement Widening (6" thick)	564.00	36,660.00		
13	Miscellaneous Paving	250.00	165,750.00		
14	Rock Splash Pad	1,275.00	6,375.00		
15	AC Berm, Type A	18.00	6,588.00		
16	AC Berm Rehabilitation	40.00	48,920.00		
17	AC Berm Seal	7.80	1,482.00		
18	PMB Shoulder Backing	6,650.00	26,600.00		
19	Cast-in-place Curbside Grated Catch Basin	7,780.00	38,900.00		
20	"L" Shaped Headwall	25,920.00	25,920.00		
21	Concrete V-Ditch	46.00	15,870.00		
22	16" Retaining Curb, Type A1-8	140.00	5,600.00		
23	CMP Extension	780.00	29,640.00		
24	Inlet and Down Drain	3,730.00	11,190.00		
25	Survey Monument Replacement	1,445.00	23,120.00		
26	Pavement Delineation Signing & Striping	62,795.00	62,795.00		
27	Release on Contract	1.00	1.00		
	TOTAL		1,537,680.00 A		

Copies: Director PWA, PM: Matt Maechler; Yvette Perez; Fi

Spec. No.RD19-05 Project No. 50580

PROPOSAL

Contractor's Name	All American	Asphalt
-------------------	--------------	---------

List of Subcontractors

Listing shall comply with the provisions of California Public Contract Code, Section 4104.

Name of Subcontractor	Contractor's License Number	Business Address	Items of Work
Amarican Pavement System	943792 DIR 1080000201	Modesto (4 95354	1,10
(hrisp company	374600 1000000306	Blooming lon (4	26

If more space is needed, attach additional sheets.

Public Contract Code Section 4104 provides that bidders must list:

- (a)(1) The name, the location of the place of business, and the California contractor license number of each subcontractor who will perform work or labor or render service to the prime contractor in or about the construction of the work or improvement, or a subcontractor licensed by the State of California who, under subcontract to the prime contractor, specially fabricates and installs a portion of the work or improvement according to detailed drawings contained in the plans and specifications, in an amount in excess of one-half of 1 percent of the prime contractor's total bid or, in the case of bids or offers for the construction of streets or highways, including bridges, in excess of one-half of 1 percent of the prime contractor's total bid or ten thousand dollars (\$10,000), whichever is greater.
- (b) The portion of the work that will be done by each subcontractor under this act. The prime contractor shall list only one subcontractor for each portion as is defined by the prime contractor in his or her bid.

NOTE: Contractor shall perform, with its own organization, contract work amounting to at least 50 percent of the Contract Price. See specifications Section 2-3.2 for exceptions.

PROPOSAL.

Contractor's Name Sully-Miller Contracting Company

List of Subcontractors

Listing shall comply with the provisions of California Public Contract Code, Section 4104,

Name of Subcontractor	Contractor's License Number	Business Address	Items of Work
Manhole Adlishifilme	398443	19500 Bevery DIVA. DICO RIVER, CA	AC Membrane
Sternalah 1 Entorprises	421823 1000000	11861 Branford St Sun Valley, C4	Striping
West pacific Concrete	1600038980	200 & Beverley Bud Murtabello, CA	19,20 Structures
CL Surveying of Mapping	LS 8231	Dea Pomona pp. Suffe 100 Covona, CA	Survey
and the second s			
And the second s		1	
	- manage - manage and an angel program of the same program of the same program of the same program of the same		

If more space is needed, attach additional sheets.

Public Contract Code Section 4104 provides that bidders must list:

- (a)(1) The name, the location of the place of business, and the California contractor license number of each subcontractor who will perform work or labor or render service to the prime contractor in or about the construction of the work or improvement, or a subcontractor licensed by the State of California who, under subcontract to the prime contractor, specially fabricates and installs a portion of the work or improvement according to detailed drawings contained in the plans and specifications, in an amount in excess of one-half of 1 percent of the prime contractor's total bid or, in the case of bids or offers for the construction of streets or highways, including bridges, in excess of one-half of 1 percent of the prime contractor's total bid or ten thousand dollars (\$10,000), whichever is greater.
- (b) The portion of the work that will be done by each subcontractor under this act. The prime contractor shall list only one subcontractor for each portion as is defined by the prime contractor in his or her bid.

NOTE: Contractor shall perform, with its own organization, contract work amounting to at least 50 percent of the Contract Price. See specifications Section 2-3.2 for exceptions.